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1. RESETINIA
#,=¢ + 7y, £180
P =P, + 1, =5°11'40"+115°18' 20" =120°30'00"
Poc =Ppg + 1z =120°30'00"+161°24'10"-180° =101°54'10"
Pep =P + e =101°54'10"+ 204°50'05"-180° =126°44'15"

Goe =0up + T =126°44'15"+ 273°46' 40"~ 180° = 220°30'55"
2. FREERLAT

fiE = AX = Dg - SiNQue
HEER = AY = D g - COS@ 5
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A 5000.00  5000.00
120 30 0 1007.60  868.18  -511.40

B 5868.18  4488.60
101 54 10 567.66 55545 -117.08

C 6423.63  4371.52
126 44 15 58224  466.60 -348.27
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220 30 55 1829.36 -1188.45 -1390.74

E 5701779 2632.52
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